Graph Exponential Growth Functions (1) _ Name
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Pavent Function for Exponential Growth Functions

4 The x-axisis an

{.  asymptote of the graph.
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. { and more dosely.

The domain of f{x} = b 1is all real numbers) The range 1s y>o.
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Example 1 — Graph y =5*. o Example 2 — Graph y = —G) = - (\’;’%,% ’
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Example 3 —/G\raph y=2-4"?+1, State the domain and range.
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Example 4 — In 1970, the populauon of Kern County, California, where Bakersi’ eld is located,
was about 330,000. From 1970 to 2000, the county popalatlon grew at an average annual
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a. Write an exponential growth model giving the population P of Kern County in 1990?
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b. About how many people lived in Kern County in 1990?
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c. Graph the model. , o L
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T Compound Interest

- Consider an initial principal P deposited in an account that pays interest at
T~ anannual rate r (expressed as a decimal), compounded n times per year.

I> The amount A in the account after # years is given by this equation:
» at
+ A= P(l + '/’jl:)

Example 5 — You deposit $5,500 in an account that pays 3.6% annual interest. Find the
balance after 2 years if interest is compounded with the given frequency.
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